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13.11       1) 

   

x 3ημω
y 4συνω

2 22 2 2 2α μέλος 16x 9y 16 3ημω 9 4συνω 16 9ημ ω 9 16συν ω




           

 2 2 2 2144ημ ω 144συν ω 144 ημ ω συν ω 144 1 144         

 

β μέλος  

13.11       2) 

   
2 22 2α μέλος x y 2συνω 2ημω       

 2 2 2 2συν ω 4ημ ω 4 ημ ω συν ω 4       

β μέλος  

13.11       3) 

   
2 22 2α μέλος κ λ 3α 1 ημω 3α 1 συνω               

       
2 2 22 2 2 23α 1 ημ ω 3α 1 συν ω 3α 1 ημ ω συν ω         

 
2 23α 1 9α 6α 1       

β μέλος  

13.11       4) 

   
2 22 2 2 2 2 2α μέλος α x β y α βημω β ασυνω        

 2 2 2 2 2 2 2 2 2 2α β ημ ω α β συν ω α β ημ ω συν ω      

2 2α β   

β μέλος  

 
 


